ANSWERS To ODPD NUMBERED W PROBLEMS
AND ALL Revie\w PROBLEMS

CH Il GAME THEORY

|\¢1 Stnctly Determined Games

1). a. The game is stnctly determmed Optlmal strategy for the row player is to always

play row 1 and never row 2. In other words, his strategy is| 1 0 ] . The optimal
strategy for the column player is to always to play column 1 and never to play

column 2. We write it as l_ (1) J . When both players play their optimal strategy,
the value of the game is 1.

¢.  The game has no saddle point, therefore, it is not strictly determined.

¢. The game is strictly determined. The optimal strategy for the row player is to

¢ always play row 4, and never play any other row. We wrlte his strategy as
[0 0 O 1] . Thecolumn player's strategy is [_ 1 _I . The value of the game
is 2. '
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b. The optimal strategy for the mayoris[ 1 0 ] and for his opponenent is L (l) J .

o " I other words, both candidates should oppose abortion rights.

1\e2.Non-Strictly Determined Games

1). a. The optimal strategy for the row playeris [ /2 1/2 ] . The optimal strategy for
12
the column player is [_ 12 J . The value of the game 0.

¢. Optimal strategy for the row playeris [ 2/7 5/7 | . The optimal strategy for the
. 6/7 .
column player is L 7 J . The value of the game is 16/7.

3). a. L_Z3 _j

b. Optimal strategy for the row playeris [ 7/12 5/12 ] The optimal strategy
L M2 ; e
for the column player 1sL 512 J . The value of the game is —1/12.
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I}¢.3 Reduction by Dominance

D o 3 J.R=[12 12 0],c=| 1a |, Thevalue=1

1 2 ' 2/3 7
3). L 4 J,R=[2/3 V3 0],c=| 0 [, Thevalue=0

2 13 ]
0
0 8
3). L-z 4_’ R=]16 0 4 0 }],C= 2 , The value =—0.8
0
0
2 8 1 o )
7)' L 1 5 J’R—_ [ 0 2/7 5/7 0 ] :C_ 13/14 » Thevalue—9/7
1/14
{{ «4 Chapter Review

0
1).a R=[ 0 1},C=L(1)J,value=3 b.R=[1 O 0],C=[0J v=-1
1

0

¢. R=[ 0 1],C={1J,va1ue‘=3 dR=[0 0 1 °1=C=[(1)J"=3
! .

2). a. -5 10_| b.R=[0 17, CI_ Jvalue 5 cents

3)&L5 3OJbR [1 0] cL | . value = 5%
N\

14 08 .11 0 0
4)_a,[.12 11 .llJb_[O 1 0],[1J,or[0 1 O],LOJ,value:.ll
06 .09 .10 | 0 1

02 .03 _ -
5. a| oy o1 | b stocks=27,CD's=5/7

29
6. a2 127, L 1/2 value =0 b [59 497 ,| 50 |, vatue=10/9

47
¢ [57 27] L o7 | value=237 d. [ 12 121,] 37 |, value=1

7). 19/8; 14/9 8). $11,000 9. [ 112 127, L 3 J ,v=0

10). Pass = 9/25, Run = 16/25 11). [ 10/19 919 ], payoff =9.58 fish
12). [1 0], payoff=2 points
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